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e Sl 3| Al | 34,383,882,275| 35,045,649| 50,493,061| A15,447,412| 34,418,927,924
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PR EE
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7B AM L 306,641,371 296,681,366| £A9,960,005
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A 14 A10,000,000
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O L-O
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57,809,622 57,946,541 136,919
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(215-511-00) R FHLHE AR T
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57,809,622 57,946,541 136,919 HEW 7|2HH ols| x|
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s 3 A AU EE S S
AMHEH 2 2,259,939 4,768,363 155011 300,000 — 1,500,000 (£300,000)
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481,798 — 290,248 (2191,550)
¥ OAtA 27|
(100-401-01) AlAdH]
MNEE S 7,745,000 7,745,000 | dESALE
e S A 5,936,000 — 6,233,000 (297,000)
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297,000 — 0 (2A297,000)
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NEHEZA 517,502 817,592 300,000 8 HEEA T
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0 — 300,000 (300,000)
EEEEEEY
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LdolHof &= 736,740 636,740 100,000
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(100-201-01) AF222|H|
Ag = D2 CAIY StEY BE ZEH= 7| 2 M
strf2 9o 700,000 990,000 290,000 0 — 290,000 (280,000)
el 2 MeTMTMEEx T gt 51
0 — 290,000 (290,000)
REECIEEE=E
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(ks A)
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e @l
(100-201-01) AFR2|d]
229 oy .22 28 Y4
g 1,057,000 1,347,000 290,000/ O — 290,000 (290,000)
TAlOp 2RY R oM A 9 a4
0 — 290,000 (290,000)
(100-201-01) Ab2a2|H|
MeHEE 28 2 2
He M4y2 C2Ex AR
sg oA B8 3,549,135 3,599,135 50,000| 1 000,000 — 1,050,000 (50,000)
e MFE g8 sEga A
0 — 50,000 (50,000)

;'ATOT (x975,848) (x975,848) (x)
;;;HIA = 32,629,153 33,307,153 678,000
(LerslH)
TEH DMH[A 31,653,305 32,331,305 678,000
M3
(100-306-01) &¢12
o 120CHMER T £ F
30,072,395 — 30,750,395 (678,000)
S AMERAL AU 228H ALY
0 — 110,000 (110,000)
HREME S8 HA elAlRz
120CHAHZ Y & 0 — 60,000 (60,000)
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